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N R Find the hypotenuse of the following right triangle.
EHBEED L& conTER K, — ek
Answer when you make a figure combining right-angled triangles 151 %E i3] %E
whose hypotenuse is ¢ and whose other sides are a and b.
R En bh BN X X
e o el s
D C C D b R 777777777777 a C \/g 4
R / /'/\\
Sa | ="+ (3 )
c | N Q C
' : = /+3=4
x>0 &N
WhoEE WA X = V4 :é
(1) AABQ @ﬁﬁ%:k&b;t (1)AAPS@@%*%:JWJ;E
Find the area of triangle ABQ. Find the area of triangle APS.
ek t)xofmg/:o(b em b
i 4. RO BEA=AROEIZRDLRI W,
2 ab Find the height of the following right triangle.
v b
i il
WA Wh EE
(2)DABCD@E$*%:JWJ;E (2)JABCD @ﬁﬁ%:k&b;t 17 25
Find the area of square ABCD. Find the area of square ABCD. x x
15 24
c?
172= x*+75°
WhoEE W
(3)IPQRS O [Hi i %3k L. [(3)PQRS O Al i % K X, x?2 = /77— 757
Find the area of square PQRS. Find the area of square PQRS.
= 2859—225
(a—b)
= 64
4 (1)(2)(3)41 D, 2% (4) (1)(2)(3)41 n, 2% x>0 19
bbb bbb
ab%ﬁﬁ%’(?@ﬂi’ ab%ﬁﬁ%’(?@ﬂi’
Express ¢2 using a and b Express ¢2 using a and b X = b4 :L
from (1), (2), and (3). from (1), (2), and (3).
/ ‘BT TS
¢’ =—abx4 5 a2 b2=(a+b)(a—b)xRAALT, ek,
( )2 Calculate the following expression using a? — b2 :<a + b ) ( a—b )
nwn b
i il &
2 2 2
¢ =a + b @D 52— 42 ® 102 — &
. . T ERTA (ORI AN :(5+4 )(5*4 )
2. B2 AT ARFEEHRT D K ZERE L,
Make a table that creates the Pythagorean numbers. —090 X /= 9
n 2n nz —1 n? + 1
2 %2 22—1 22 +7 2 _ 12 2 _ 192
9 @ 17° — 15 @ 15° — 12
4 3 5
(77475 ) (17—15)
2 %3 32—7 3247 _ _
3 =32 X 2= b4
@ 29* — 217 @ 252 — 24%
4
=( 29427 ) (29—21)
=50 X &= 400
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Answer about figures made from two kinds of right triangles.
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i
LT O TE R L,

(%i;ﬁz’)) c, {E@‘;ﬁbi‘ a, b), (fﬁ;ﬁﬂ d, {ﬁj 0)317}5 e c)

(Hypotenuse c, other sides are a , b) ,

(Hypotenuse d, other sides are c,c)

nwn
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HA N

[
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(1) AAPS @ﬁﬁ%:kbb X,
Find the area of triangle APS.

Lo

WA EE

(2)OPQRS O [f f§ %::k X,
Find the area of square PQRS.

Loy Vg

(3)DABCD O [ %::k X,
Find the area of square ABCD.

(a%—b)2

(4) (1)(2)(3)JE h, 2%

a, b%ﬁﬁ%f?@ﬂi’

Express c2 using a and b
from (1), (2), and (3).

?=(a+b)’

D b.C

b E

(1) AABS D ﬁﬁ%;f:k&b X,

Find the area of triangle ABS.

(2)ACBS D ﬁ%i %::k » X,

Find the area of triangle CBS.

b

7% ABCD @ﬁﬁ‘%;k

W X,
Find the area of trapezoid ABCD.

3) a7

(4 (1)(2)(3)JE v, 2%

a, b%ﬁﬁ%f?@ﬂi’

Express c2 using a and b
from (1), (2), and (3).
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Make a table that creates the Pythagorean numbers.

| (27 Ea
4 (%)Lz_zk/ (%)%/:ZQ«M
3 5
6 (=) = (=) +r=324s
8
10
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Find the hypotenuse of the following right triangle.

HATED

[

¥ = (V2)+ v2)
= 2+2=14
x>0 &1
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4. KO E A0 mé%;»;k&biﬁéb\
Find the height of the following right triangle.
v b
15 B il &
29i|x 13: |x
21 12
292= x?+27°
x? = 29*—27*
= F4T—447
= 400
x >0 &N

5. a2— b2 =(a+0)(a—b)aRmLT,
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Calculate the following expression using a2 — b2 =(a + b ) a—b )

i i

© 5% — 3 ® 10? — 6
=(5+3)(5—3)
—¢ x 2= /b

@ 29* — 217 @ 13% — 122
=( 29457 ) (29—27)
=50 X £= 400

@ 41% — 9 @ 26 — 247
=(47+9) (w—9)
=50 x 32=_ 7600
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Answer when you make a figure combining right-angled triangles
whose hypotenuse is ¢ and whose other sides are a and b.
v bA WD
i il
REAARESL RS I HEVIE D T
(1) IE 7% ABCD o i i % (1) IEjﬂF/ ABCD > ifi it %
bbb L bbb
c%ﬁﬁb\ﬁ_ﬁfﬁﬂi’ c%ﬁﬁb\ﬁ_ﬁfﬁﬂ’
Express the area of the square Express the area of the square
ABCD as a formula using c. ABCD as a formula using c.
————————————— c —_
c |S\ a c
N "
\| P
A c— B
=c¢? +2ab
AN oF AN eks
(2) (1)@.%%&@&9 (2) (1)@.%%&@&
#E%L*ézf:o n‘ﬂ?fﬁ%/{f:o
WA E bbb WhoEE bob
HiHZ a,b T&RE, % a , bTEHE,
The figure (1) has been rearranged.| The figure (1) has been rearranged.
Express the area by a and b. Express the area by a and b.
o a-— b
/ ® \ \E
b a
lg' ® / /]
a a S~—g— b
@
............ a— b ~
( a+b )2
@)@, LY, 2Zxab [B1),Q2LV, 2% a b
b bbb b bbb
ZHWT R HE, ZHWT &R HE,
Express c2 using a and b Express c2 using @ and b
from (1), (2), and (3). from (1), (2), and (3).
¢ +2ab= (a+b)
c? :(a + b)2~2 ab
¢ =a'+ b
R '3‘,5 RO ] YR A
2. VX AT AMENERT D %%mﬁkﬂi‘i
Make a table that creates the Pythagorean numbers.
E T 9 2 —1 2 + 1
n(%? ) 1 9 1 9
32—7 32+7
3 = 4 ———= s
52—1 52+7
7

'

BB B

53

VRN Lo ~h
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3. KO M Eﬁ A% ?Jrﬂ%:k&biﬁéb\
Find the hypotenuse of the following right triangle.
nwn 7wy b
i i

3
x = 5 ()
= 9+7=76
x>0 &7

x= Vi =4

x V24

LrohlShholl

4. RO B0 6 S(A 0 RD)E kb S0,

Find the height of the following right triangle.(Opposite side of A)

ARV

nwn b
i il
IOi |x 17: |x
A 8 A 15
70°= x*+¢?
x? = 70°—¢?
= /00— 64
= 36
x>0 &7
x= VEg =6
brom{ Shhodl T
5. /k@lﬁ = é@ﬁmﬂ%ik&biﬁéb\
Find the base of the following right triangle.
nwn b
i il
7 5 5 3
X X
7i= x’+ 57
x? = 7257
= 49—25
= 24
x>0 &7
= 24 =26




Lo

_—

<

ERll? £9I520% & )

4 3 |

i 5

o b o nl ij[ﬁr?/u(i/unxtﬂ) T~k
5. ko H A _FIL= é@fﬁ?ﬂ%?k&biﬁéb\
c2 = a2+ b2 Find the base of the following right triangle.
I HAED
15 R4 i
. . ?‘,5 R ) Mht
VX a7 AMENERT D i‘% %mﬁkﬂ‘i
Make a table that tes the Pyth: bers.
ake a table that creates the Pythagorean numbers \/_ X 9 X
s 6s+9 2%+ 6 255+ 65+ 9
X X
2 2
6%/ 49 2X[T+6X] AX]T 46X+
2
1 (\/2 ) = x2+ x”
2= 2 &
2 x'= 2
2
x’= 7
x>0 &
3 x= v/ =7

Lo~k ~N b ko no i < d oF Hron Ehho F Lo~k
1. ?4N75)c{1ﬂ@ﬂ7b>a b@E“ s B b T 3. Yk@lﬁ =AIED ?Jraﬂ’i’?k&biﬁéb\
ﬂ% % ﬁ_f BEXIZoNT /§ PR v Find the hypotefmse of the following right triangle.
Answer when you make a figure combining right-angled triangles ?ﬁblj % F‘F% %
whose hypotenuse is ¢ and whose other sides are a and b.
b ED
[+ 8 x 3 x| /20
33 4
o = (3v3 ) +9
— = 274+9=236
= A WA
(1)@ ‘% ADEC o ifi i % £ >0 1
WA E R &,
(1)OJABCD @ % e ;k O k. Find the area of trapezoid ADEC.
x = 36 = b6
Find the area of square ABCD. —
( a+b )2
i3 i3 4. Ko HEA=AEonSA0MD)ERD 7S 0,
Y “ . Z D& papi
(2)AAPS P i 5 2 ;k Do (2)AABC O i 5 2 ;k oo Find the height of the following right triangle.(Opposite side of A)
Find the area of triangle APS. Find the area of triangle ABC.
v HA WD
/ {1l & [
—ab
2
BhE bl 1 X 29 x
(3)JPQRS ® HFE Z= K L, [(3)ABCE @ﬁﬁ%:k&b X,
Find the area of square PQRS. Find the area of triangle BCE. A 15 A
21
¢’ 177 = %757
x? = 77%—715%
@ D,@,3&0, 2z |[DD,Q,QL0, &%
Lh bbb b bbb _ _
a, b & MAVT % &, a, b EHAWT & &, = T 225=0k
Express c2 using a and b Express c2 using a and b
from (1), (2), and (3). from (1), (2), and (3). x>0 &
(atb) x= Vol =&
— ey L
= c*+ S a bx4
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Calculate the following. (simply) Find the base of the following right triangle.
av D bA D av D LA ED
i il & i il &
2 2
@ 1 @ 6 3: 1 2: 1
=7 X7 =7 X X
@ 3 @ 5 3= &'+ 7
= 3x3 =29 x?= 3> —7?
® (V3 )R —vExvi—vT |® (VT ) — o r—p
= 3 x>0 &7
broid SAmol Lo~k _
2. Ko I fa A ORI & KD S, v
Find the hypotenuse of the following right triangle. -
v bA WD
i il &
) ®A4 oF tmmgmu = b
x 3 4. RO E A=ZMEOm S ZRO RSV,
6 Find the height of the following right triangle.
2 nwn HA WD
i il &
xl= 3*+42° 2 :' 13 :'
X X
= 9+4=73 V3 12
x>0 &7
2= x*+(v3)?
X = 473
w= (VT
= 4—=3=7
@ @
/|2 /|7 x>0 10
V5 3 x= =1
= 27+ (y5)
= 4+ 5=9 0¥ brong Lj/&r’ix/éj//a XA
5. Ko W i S0 S ABOBS ERD RS,
Find the height of the following isosceles right triangle.
x >0 &0 N bA T
i il &
x= 49 =3
X X
®x ©) x:?) (\/2_)2‘x+x2‘2x
8
4 2 ¥ (T
6
Wy
N RN
=2+2 =7
= 64+36=700
x>0 &7
x>0 &7
x= 7 =_L
x = 4700 =_70
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Calculate the following. (simply) Find the base of the following right triangle.
av D bA D av D LA ED
i il & i il &
2 2
O 12 @® 13 2 : 1 3 :2
= /2 X2 = 744 X X
@ 72 @ 52 22: x2+]2
= 7 X7 =49 xi= 2% 7%
® (V)2 —vTxvrvis |® (V5 ) =
=7 x>0 &0
ek Hron ShhoF Lo ~A _
2. Ko W = A ORDERD R E L, YTV
Find the hypotenuse of the following right triangle. -
v bA WD
i il &
SF  broh ShhoUv Eh b
v ®A3 4. KO W AR OESERD RS,
\/3_ Find the height of the following right triangle.
vV 27 nnEn bAa N
1 i il &
JC’Z: ( /3 )2+/2 17: |x 25 ’_Ix
= 3+i=4 15 24 |
* o0 E 172= al 4 157
YL x2= 177~ 15
= 289—225=¢64
@ @
3 2 X= ey =8
= (V1) '+
= 7+9=76 SF  bromd K L) AAEL PRSI
5. ko HE :%ﬂ:ﬁﬁ/@mé%*&b@éb\
x >0 v Find the height of the following isosceles right triangle.
nwn HAEWD
V8 /|« V2 /|
L L
X X
©) ©)
x 12 5 (\/g_)z‘ 4+ =2 «x
12 ,
9 2x= ey
2_ .
xl= 727497 = (/5 yT2
= 44+ 57=225 = ie2 =
x = V225 = 25 FE VY T




T Y FuEa noEn

BRH? L9I520ERGER)S RE '

1. koHEEwr, (e ) 3. WO i =

FVE A MAT A bronl ko L Th~A
- 22) ST XN
Calculate the following. (simply) Find the base of the following right triangle.
AN [EXEReth o En bAF0
15 B il & 15 B il
© 8 O 9*
g 6, |4
L] L
= & Xf&= 64 X X
@ 122 @ 15 p2= x24 22
= 72 X]2 = 144 xl= 4?—2?
® (V12 )*=vizxviz =via |@ (V15 ) = J6—4
=72 x>0 &
SF b robd Shho U Lo ~A
2. KO A = A ORI %KD RS, X =72 = V3
Find the hypotenuse of the following right triangle.
v bA WD
151 B il &
@ @ ek Lronl sho 7 b
x ) x 5 Y. WO H A =AEO mé%ﬂ?&)iﬁéb\o
Find the height of the following right triangle.
nwn HA WD
V3 V12 {5 s ]
= (/3 )+ 77 13 :'x 26 :'x
= 34+7/=14 12 24
x>0 &7
732= x*+72°
x= i =2
o x?= 73°—72°
= 169—744=25
@ x ® «x
7 5
x>0 &7
24 12
¥E V2 =5
xl= 247+ 77
= 576+49=625
OF  byomd K I~k EALBoUL
vy 5. ko H 4%Jﬂ:ﬁﬁ/@mé%?k&biﬁéb\
* g Find the height of the following isosceles right triangle.
nwn HAEWD
X = /625 = 25 1] R [
2 Y
X X
@ «x @
8 xi 9 o'= x’+ x* =2 &’
15
192 2 x'= 47
xl= 5%+ §7
xl= 672
= 225+ 64=2¢9
= 362 =/¢
x>0 &
x>0 &7
X = /289 =_17
- x = 476 =3V2




